Strahlensatz
Ubungen

Erganze die Tabelle mit Hilfe der Strahlensatze bzw. der
Subtraktion. (Runde auf eine Stelle hinter dem Komma.)

ZA _ZC.
ZB ZD
ZA _ZC.
AB CD
ZA ZB AB ZC ZD CD
1) | 2,0cm | 8,0cm 4,0cm
2)| 7,0cm 2,0cm 10,3cm
3) 2,0cm 7,5cm | 2,5cm
4) | 7,0cm | 8,0cm 1,1cm
5) 1,0cm | 3,0cm | 3,4cm
6) 8,0cm 5,7cm | 0,7cm
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Strahlensatz
Lésungen

Erganze die Tabelle mit Hilfe der Strahlensatze bzw. der
Subtraktion. (Runde auf eine Stelle hinter dem Komma.)

1) 2,0cm | 8,0cm | 6,0cm | 4,0cm |16,0cm | 12,0cm

2)| 7,0cm | 9,0cm | 2,0cm | 8,0cm | 10,3cm | 2,3cm

3) 4,0cm | 6,0cm | 2,0cm | 50cm | 7,5cm | 2,5cm

4) 7,0cm | 8,0cm | 1,0cm | 8,0cm | 9,7cm | 1,1cm

5)| 8,0cm | 9,0cm | 1,0cm | 3,0cm | 3,4cm | 0,4cm

6)| 7,0cm | 8,0cm | 1,0cm | 5,0cm | 57cm | 0,7cm

1) E=% AB = ZB ZA CDh = zZD ZC
2) m=za+m =" w-m-z
3 m=m-00 m=2C_"  7m-z.:m
4) m=m-22 2=L2D ;-0
5 o=z -2 A=2C""  m-z.a
6) = -0 @m=2_"  H-m-2z
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